Progression: Medium Year 5

Subtraction Word Problems (C)
Solve the following problems.

Name

Class

Date

A jacket was reduced in a sale by £120. If it cost | Answer:
£225 before the sale, what was the sale price?

Tanvir buys a packet of crisps for 55p, a bar of JAnswer:
chocolate for 80p and a can of soda for £1.10.
He pays with a £5 note. How much change does
he get?

In a shot put event Marcus threw a shot put Answer:
7.62 m. How much further does he need to
throw to get to 8 m.

There are two stadiums in a city. The first has Answer:
52 345 seats and the second has 63 530. How
many more seats does the second have?

Find the difference between 13 072 and 11 851. | Answer:

| am counting backwards in steps of 1.8. Answer: ]

15.0, 13.2, 11.4. Write down the next two ’ \
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How confidently can you Your Score
solve subtraction

problems?

numbers.
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Not confident Fairly confident Very confident
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